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Fnst Semester. F Examination; 2014 -

School of Social Sciences
Msec. Economics Integrated

- ,Ttme Allowed: ZHours

Course Code: SSEI-114 Statlstlcal methods

. S “Muaximnil Marks: 30
. Note: Atteinpt All Questions from Sections A & Section B & any twe questions from Section C

Section A (Attenipt all questions)

. . :_(_1e5=5)_'. S
- b A graph used fo show a d]Si’l‘lbUt[Oﬂ of eumulatwe frequency is called_

2 :

3. A sample comprxses of charactenstles as-of the Census
4 Arrangmg data in an array is necessary condition to calculate

5. Conversion of excluswe series to inclusive is p0531b1e by

" Section B (Attempt all four questions) :
1. In a class of 60 students, 20% scored more than 90 in mathematlcs 35% scored more than 90
-in statistics, 25% were debarted and were not allowed to sit in the examination. Rest of the
. children equally scored in English & Coniputers. With the above data, ase an appropriate
graph and show them dlagrammatlcally Also calciilate how many students were there in each
category. - - 3 Ce : (3 marks)
2. Ina frm a letter is typed by Anklt in 4m1nutes by Mohit in Sminutes, by Sangeeta-in 6

mifiutes & by Kapil it T0 minutes. What is the average time taken in completing one letter‘?

. How many letters do you expect to be'typed in 6 hours? . (3 marks)

3. An incomplete distribution is given below, find the missing frequencies and calcu]ate the
arithmetic mean by direct method. ' '

_Marks 1020 | 20-40 | 40-60 | 60-80 ] 80-100 ] 100-120 | 120-140

1L IFthe value of median is 49.09, calculate the missing ferms. The total nuimber of students is -
80. - , . (4 marks)

27 Caléulate the geometric mean of the following price relatives:- (3 marks) - -
Commodity | Wheat | Rice Pulses Sugar | salt Oils
Price 237 198 156 124 107 o 1956
Relative ‘ '




Section C (Long QUéstions. Attempt any 2 dueStions) o o (2*6=12 mér_ks)

1,100 students aDpeared forthe final exams. Calcu!ate the average dewat:on through mean &
median from the following data & verify the answer:

Marks . ..oof-Less:- - | Less - | Less Less Less Less Less Less

(Lessthan} "I than 80 [ than 70 | than 60 | than 50 | than 40 | than 20 than20 {than10 |
{NoofStudents- [100 |90 |80 |60 32 120 i3 13 —

.2, Ca!cu[ate the value of mode through analysis table from the data glven below : , ‘

‘ Travel Time ‘More- More More. More | More ] More ' More_ T™ore " |
ey - ——{-thanO | than10 | than 20 | than 307 thaf 40"} than 50 | than 60| than 70

Frequency- 278

Also specify that whether the value of modal class |!ES in the same group by inspection method &
ana!yms table or not? : _ . .

3. For‘a grcup of 5000 Sho’pkéepers the daily earnings vary frbm Rs200 to Rs.800. the earnings
of 4 percent of the shopkeepers are under R5250 and those of 10 percent are under Rs.300;
15 percent of the shopkeepers earn Rs. 600 and over and 5 percent of them earn Rs.700 and
' over.The quartlle earnings are Rs.400 & Rs.540 and the sixth decﬂes is Rs 500
g a) - Put this irformation | in the form of frequency table.
u)“Aisc“flnd"out the viedian value of the data by puttmg them in class interval of 100
startmg from 200 up till 800.




